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AY-126
B.Com. IT"! Year (Reg./Pvt.) Examination, 2019

Accounts Group

Paper -1I
Cost Accounting
Time : 3 Hours] . [Maximum Marks ; R¢8= 40
Pvt.= 50
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Note :- Attempt all the questions.
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Objective Type Questions

1. T8 I F T P ¢

Choose the correct answer :

(i)

(ii)

AY-128

24 1= ¥ mfva 23 &
(1) = W

@) = #d

(q) Rt 7=

(x) s &

The term 'Stores’ include.
(a) Raw materials

(b) Work in progress
(c) Finished goods

(d) All of these

e Seaiter A B A Jaw B sfvaRa R @
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Rowan premium plan was executed by James
Rowan is :

(@ In 1901

(b) In 1911

(c) In 1891

(d) In 1861

$FR A @i TEl Frefifes v arg el ® -
(1) ge Fmbor

(®) e s
(7) zeam Em
() S ad

Unit costing system is applicable to

(a) Brick making

(b) Textile mills

(c) Steel plant

(d) All of these

Adie e X sl B o 9 @ A #
(o) T $

(@) o= arm =

(|) @ar fsET

(@) A @
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Under machine hour rate method a machine j.

treated as
(@) Cost unit
(b) A costcentre
(c) Service department
(d) None of these
Rex =g R o & AR
() @ @ w @
(@) o @ @
(®) 2 Tl F
Standing charges are incurred if
(a) Vehicle is running
(b) Vehicle is standing
(c) Inboth cases

e - '

SECTION - 'B'
WY Il e
Short Answer Type Questions

2x5=10

2. @FE & FEYReT |

Write the concept of cost,
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HYG/OR
A F ugfa qeed

Discuss the nature of cost

. ATE 9 ¥ R 7

What 15 cost sheet ?
FAIGT/OR
Iuitag w4 & ?

What is overhead costing.

. SH AT m B ?

What 1s contract cost.
H9E/OR

qfiEres are a4 e ?

What is operating cost

. T i e = B 7

What is inter process profit.
#99I/OR

i @i & s [l

Write meaning of process costing

. Ewia a2

What is marginal costing ?
FHa/OR

an faede fam @ R 7
What is break even point.
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s - ‘q
SECTION -'C'
e Ialg o= §x5=25

Long Answer Type Questions

7. Rl FEEer sEuRen & g $i

Explain the concept of material control

HAYqI/OR
TR & @ H o X
Explain the elements of cost.
8. @R R I 9T A R
Write note on unit costing.
FGqI/OR
T & 7 IR B Frafor 3y o e gl P R A
HHS e &
A firm purchased a plant to manufacture a new product.
The cost data for which is given below
g aiffE e (Estimated annual sale) 24000 unit
AT @rd (Estimated cost)
areElt (Material) Rs. 4. p.u.
g 34 (Direct labour) Rs.0.60 p.u.
FILEHT 9 = (Factory overhead) Rs. 24000 p.a.
qaraE @™ (Adm. exp.) Rs, 28000. p.a.
fama @ (Selling exp.) 15% on sale
AY-1286 (6)
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A A SR 1.02 & @ fwa gea B A B
Calculate the selling price if profit per unit is Rs. 1.02.

TR |
Explain how materials and plant are treated in contract
account.

HY1/OR
U I SiETEE @ O Fe SR afed adr S ©
@ &l B EHEEd |
How do you ascertain the following ratio and what pur-

pose do they serve ?

. 7T YRR T @ oG T THHS € ¢ anaras ard &l Tl

fre T & o & 7

What do you mean by inter process profit ? How is actual

profit calculated. http://www.onlinebu.com
Aqq/OR

&, o7 wg. fy. @ @ YR $REA SR 3| A/ o 3

60% it Tt IR 2@ B FREE AFF P 20% R T Y

g e 81 FRan g oy P @ -
The costing department of GRS Ltd. absarbs factory over
head @ 60% of labour and office over head @ 20% of

P.T.O.
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factory cost. The total expenditure for the factory is an
under : Rs.

gt (Material) 4,00,000
45 (Labour) 3,00,000
G 39 &9 (Factory over head) 1,96,000
Fatr 3 21 (Office over head) 1,70,000

ST F10% Wi F 21 ¥ 10,20,0002 | 0% @ 93 a1
R w1 a=

10% ot the output is in stock sales amounted to 1020,000
prepare a cost sheet and reconciliation statement.

1. S AP ¥ F ome ¥ 7 gEd o @ A a5
What is meant by marginal costing ? Describe its merits
and demerits,

A9q/OR
=T geerall & @ wE orqum & o Y
From the following data calculate profit volume Ratio
o e F
(Per unit) (Total)
@t are (Fixed cost) - Rs. 100000
WRaddier AT (Variable cost) 10 Rs. 350000
R4 (Sales) Rs. 30000 unit 25 Rs. 750000
+++
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